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#include <stdio.h>

int main(void)

{

int i=0;

while (i <=6){
i+

if(4<=i)break;
printf(”ii=%d” ,i);

printf (?\ni=%d\t” ,i);

#include <stdio.h>

int main(void)

{

int i=0;

while (i <=6){
i+

if(4<=i)continue;
printf(”ii=%d” ,i);

printf (7 \ni=%d\t” ,1i);

#include <stdio.h>

int main(void)

{

int i=0;

while (i <=6){
i++

if(4<=i)goto next;
printf(”ii=%d” ,i);

printf (?\ni=%d\t” ,i);

¥ } }
return 0; return 0; next :
} } printf (”ii=%d” ,i);
return 0;
}
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i=3 i=3 i=6 ii=6 i=3 ii=3 i=3
i=4 ii=4 i=4 i=7 ii=7 i=4 ii=4 i=4
i=5 ii=b i=5 i=5
i=6 ii=6 i=6 i=6
i=7 ii=7 i=7 i=7
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#include <stdio.h>

int hoge(int a, int b);
int foo=100;

//

int main(void)

int foo, bar;

foo=10;

for (bar=1; bar<=3; bar++){
int j;
j=hoge (foo, bar);
printf ("%d\n” ,j);

}

return 0;

int hoge(int a, int b)

int i;

i = at+b+foo;

return i;

}
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f(z) = =5x% — 62 + 10 — sinz —10<2<10
0000000000000 0000000000000000000000nono

e JOOOOOO.00001O0ODO0O

e U0 f(x)DOO0OODOD0OUOODOOUODODOOOO

3.2 ODUOUOOoOoboOood
gbobooobooboooooboooboooooboooobobobOooooooboobobooDbo
e OO0 30D0O0DOODODDODODODODOOOOOOODOOODODO

e l000OODOOOOOOODOOODOOODOOODOOODODLDOODLDOOOOOOODOO
oooooo

- 00Oo0o0oO0oobooob0eb0 VWO cODOOOOD SOOODDOODOOODOOODODDOO

a+b+ec
2

S =/s(s—a)(s—Db)(s—c)

- booboboooooboboboobboooobooboooobobbbobobobooobooon
ooo

e OO OOOODLOOOLUODLDOOOODLOUDLOODODLOOOOOO

- booboooobooobobooobooooboooooboOoooooboooo
— Uboobooboooobooooboobooocond



4 0000
00000000000000000 (O

[01] 00D SsS000000000
[0 2] ODODOe6e0O0DCODOOODO

gbod 5: 00000000000

10) 0000000000000 D0O0U0000OoUOOOoo

ood 6: 00000000000

#include <stdio.h>
int f(int n);

int main(void)

{
printf (?%d\n”, f(5));

return 0;

}

int f(int n)

{
if (n==0){

return 1;
telse{
return nxf(n—1);

}

#include <stdio.h>

int hoge(void);
int gv=3;

int main(void)
printf ("%d\n”, hoge());
return 0;

}
int hoge(void)

if (gv1=0){
gv—-—;
main () ;
}

return gv++;

}




